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] [ 4% Multiplying numbers written in standard form ]

[ 4% Collecting two or more variables ] [ 5% Linear equation involving brackets
Simplify the following Solve Calculate:
expression: 7(x+4) =70 (1x10% x (3 x 109
i@f_ifj:_ge/;*_,“c L)Su'a-l’va cemmutatine lawd
- Se-Te+5CHYC =30 o¥x 10
Se-Zer5cr T a %3« 1910
= 3e +4c¢ 4 +9
= k2
?aqc =~ e \3 x 10
' 1%
o=l = 4 x IO

5% Describing any vector translation ]

[ 3% Substitute negative values into an expression ] [6* Create a formula to represent the perimeter of a sﬂ [

Ifa=2andb = 3, find the value

of
7a + 5b a formula for the perimeter, P.
:!xa+51fb Al —, "xg_m‘g
Ix2+5x3 i '~ n-2
=X +Yy+Z
2 n+3+ N-2+Int'l

P

__I)—cl 3n+3

3,y=n-2andz=7n + 2, write

In the following shape, if x = n + |Describe the transformation of A

toﬂB:
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[ 1% Write down all the factors of a number ] [ 3% Mixture of 1st and 2nd index law ] [ 4% 3rd index law - power of power ]
Write down all of the factors of Simplify: Simplify:
30. 6’ x 6° (652
6-3

g i S 2

2x 1S 6 R | -

AR T TEE 6 =6

5x b

==

56 =0 =k

1,2,3,5,6,10,15,30
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[

] [1* Conversion between units of length, mass and voi

5% Calculate the area of a sector

) (

Convert 30kg into g.

[ 3% Show the sixth term is ...
Here are the first 3 terms of an
an'&lzl?etlc sequence:
e, e+2f,e+4f

Find the area to 1dp.

xgjg”(j : !OoonxS’O

Show that the 6th term is: p,
e + 10f r= 31cm BOK 5 m
WJEIN‘I.TE-F({;C‘FZP:CJ—EE A: Ha x 1T x 312 ﬂ j
Fdemn = ¢ +6CH - = e+8F / & - "
R = e4( = 2210 25 3RS.8om
e =e+BF+ F ST
[ 3% Mixed number of an amount ][ 3% Problem solving from a table ] [ 4% Calculating change
; 3 Find x if A shop lists for sale:
Fmd{f}:f 70
7 P(red) = P(olue): o @ £0.83, B £0.27
7 ;— = L:-}- Colour| Red Blue | Pink
5 e Prob. x x 0.5 If Ibuy 4 @ and 4 &, how much
| - - . e
;QF?O_:?O_ 2x1F pCR)"p(@*P(@:I change(lnE)dolge;fromﬁm?
<10 x 13 RNy 4 x 0832337
= '®) A cf X 0'3(.‘- ol 36
7 2%205»—5( £q.68
o =025 10 — b 6?=£5-3Q
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[ 4% Collecting two or more variables ] [ 5% Linear equation involving brackets

] [ 4% Multiplying numbers written in standard form ]
Simplify the following Solve Calculate:
expression: 8(x + 4) = 96 2x10% x (1 x 109

4c +3c-2a+ 3a

[ 3% Substitute negative values into an expression ] [6* Create a formula to represent the perimeter of a

sﬂ [ 5% Describing any vector translation ]

Ifa=-3and b = -3, find In the following shape, if x
the value of =n+8,y=n-4andz=
3a + 5b 8n + 4, write a formula for

the perimeter, P.

xﬂ" .‘:Z
— - =

Describe the
transformation of A to B:

3
B
2

1
’J‘DIO‘ A
-1

[ 19 Write down all the factors of a number ] [ 3% Mixture of 1st and 2nd index law ] [ 4% 3rd index law - power of power ]
Write down all of the Simplify: Simplify:
factors of 55. 97 x 910 (58
98
[ 3% Show the sixth term is ... ] [ 5% Calculate the area of a sector ] [1* Conversion between units of length, mass and vo}
Here are the first 3 terms Find the area to 1dp. Convert 501 into cl.
of an arithmetic sequence:
2c,2c+d,2c+2d -
Show that the 6th term is: p—
2c + 5d
[ 3% Mixed number of an amount ] [ 3% Problem solving from a table ] [ 4y Calculating change ]
5 ind x i i :
Find 5? of 98 Find x if A shop lists for sale:

P(red) = P(blue):
Colour Red | Blue | Pink
Prob.| x X 0.6

> 60p, @ 80p, @ £0.93

If | buy 2 % and 5 @, how
much change (in £) do |
get from £107?
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ANSWER 1 ][ ANSWER 2 ][ ANSWER 3
7c+a x=8 2 x 107
ANSWER 4 ][ ANSWER 5 ][ ANSWER 6
-24 P=10n+8 Translation by
2

L2
ANSWER 7 ][ ANSWER 8 ][ ANSWER 9

1,5,11,55 99 576
ANSWER 10 ][ ANSWER 11 ][ ANSWER 12
2c + 5d 167.6cm? 5000cl|
ANSWER 13 ][ ANSWER 14 ][ ANSWER 15
560 0.2 £4.80
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